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8. A dealer sold three-fourth of his articles at a gain of 20% and the remaining at cost price.
What is the gain earned by him in the whole transaction ?

(1) 13% (2) 15%
3) 10% (4) 12%

9. Mr. Jones gave 40% of the money he had, to his wife. He also gave 20% of the remaining
amount to each of his three sons. Half of the amount now left was spent on miscellaneous
items and the remaining amount of ¥ 12,000 was deposited in the bank. What amount of

money did Mr. Jones have initially ?
(1) %1,00,000 (2) %1,50,000

(3) ¥75,000 (4) ¥1,25,000

10. The average of 25 results is 18. The average of the first twelve of them is 14 and that of the
last twelve is 17. What is the thirteenth result ?

(1) 75 (2) 178 (3) 60 (4) 65

11. The following line graph gives the annual percent profit earned by a company d@g t}.le
period 1995 — 2000. If the income in 1998 was ¥ 264 crores, what was the expenditure in

1998 ?

80
75
70
65
60
56

Profit Percentage
8

1995 1996 1997 1998 1999 2000
Year

(1) %104 crores (2) %145 crores

(3) %160 crores (4) %185 crores
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21.  Choose the word which is closest in meaning to the word given below.
EXEMPLARY
(1) Perpetual (2) Outstanding
(3)  Eluding (4) Impartial
22. Choose the word which is opposite in meaning to the word given below.
FERVOUR
(1) Ardor (2)  Zeal
(3) Passion (4) Apathy
23. Choose the correct meaning of the underlined phrase.
Nowadays, on TV channels, reality shows are becoming the order of the day.
(1)  Something that is negligible
(2) Something that is a must
(3) Something that is stylish and attractive
(4) Something that is very common or important
24. Fill in the blank with the best suitable expression.
Geetha’s friends her as her parents were poor.
(1) looked up on (2) looked down on
(3) looked up with (4) looked down with
25. Different parts of a sentence are given in a jumbled order. These parts are numbered.
Choose the answer from the options given to form a meaningful sentence.
I.  the parents
II.  when they were in France
III. to their children
IV. could not teach
V. Hindr
(1) V-IV-1-1I-1I el Mel<Tvall-V
8 I-IV-II-V-II 4) 1-Iv-V-Il-1I
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41.  Which of the following is the largest memory size ?
(1) TB (2) GB (3) MB (4) KB
42. Consider the following lists :
Operating System Company
a. Windows i.  Open Source
b. Linux ii. Apple
¢. OSX iii. Microsoft
d. Android iv. Google
Identify the correct match.
(1) a-ib-iii,c—iv,d—ii (2) a-ii,b-iii,c—iv,d—1i
(3) a-iii,b-1i,c—ii,d—iv (4) a-iv, b—iii,c—ii,d-i
43. ASCII stands for
(1) American Standard Code for Information Interchange
(2)  American Standard Code of International Interchange
(3) American Scientific Code for Information Interchange
(4) American Scientific Code for International Interchange
44, The base of hexadecimal number system is
(1) 16 (2) 10 3) 8 4) 2
45. A source program is written in language.
(1) Symbolic (2) Machine level
(3) Assembly level (4) High-level
46. The two's complement of a binary number is obtained by adding to its one’s
complement.
(=1 (2 0 3 10 4) 11
47. The program that analyses and executes the source code line-by-line is called
(1) Compiler (2) Interpreter
(3) Assembler (4) Operating System
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